	He likes sausages.
	Does she like cheese? No, she doesn´t.

	She eats apples.
	What does she like?

	Tina drinks hot chocolate.
	Does she eat ham? No, she doesn´t.

	Tom likes bacon.
	What does he like?

	Peter doesn´t eat potatoes.
	Does he eat sardines?

	He doesn´t drink banana juice.
	 Does she drink milk? Yes, she does.

	She doesn´t like eggs.
	What does Jenny want?

	Fred doesn´t want fish.
	She wants a tuna sandwich.

	He wants tomatoes.
	Does your sister drink apple juice? Yes, she does.

	     Tony doesn´t like rice.
	Does your dad like chicken? Yes, he does.

	Bing doesn´t eat pears.
	IE2 U6 PRESENT SIMPLE 3rd. person

	Má ona ráda sýr? Ne, nemá.
	On má rád párky.

	Co má ona ráda?
	Ona jí jablka.

	Jí ona šunku? Ne, nejí.
	Tina pije horkou čokoládu.

	Co má on rád?
	Tom má rád slaninu.

	Jí on sardinky?
	Petr nejí brambory.

	Pije ona mléko? Ano, pije.
	On nepije banánový džus.

	Co chce Jenny?
	Ona nemá ráda vejce.

	Ona chce tuňákový sendvič.
	Fred nechce rybu.

	Pije tvá sestra jablečný džus? Ano, pije.
	On chce rajčata.

	Má tvůj táta rád kuře? Ano, má.
	Tony nemá rád rýži.

	IE2 2nd U6 ČAS PŘÍTOMNÝ PROSTÝ 3. osoba
	Bing nejí hrušky.


